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Questions
1.
a. IFE=-MV2, find M when E =30 and V =2 [2mks]
. x%+y? .
b. amwmmewm%wmj;;ﬁx=2mMy=1 [2mks]
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2. The length of an arc of a circle is 62.8 CM. find the radius of the circle if the arc subtends an
angle of 144° at the centre [r = 3.142]. [3mks]

3. Twenty five machines working at a rate of 9 hours per day can complete a job in 16 days. A
contractor intends to complete the job in 10 days using similar machines working at a rate of
12 hours per day. Find the number of machines the contractor requires to complete the job
[2mks]

—8+2+12X9—-4X6
4. Evaluate [3mks]
56+7X%X2
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5. A large carton contains 4 litres of orange juice. Cylindrical glasses of height 10 cm and radius
3 cm are to be filled from the carton. How many glasses can be filled? [4mks]
[7 = 3.142]

Orange
Juice

10cm
4 litres

6. The diagram shows two boxes that are cuboids. The larger box measures 20cm by 10cm by
20cm. It is partly filled with 70 smaller boxes each measuring 5¢cm by 5cm by 2cm. The
smaller boxes are packed so that there are no gaps between them. How many more smaller
boxes could be fitted into the larger box? [3mks]

Not drawn accurately

2cem
20cm 5cm
Sem

10cm

20cm

7. Simplify 6y — (y — 4y) [2mks]
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8. The cylinder below has a surface area of 400 cm?. Calculate x [3mks]

9. Solve the linear equations below using elimination method:

a. x+y=7 [3mks]
3x +y =15

b. 5m+2n =19 [3mks]
3m—4n =1
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Questions 

1.  

a. If E = , find M when E = 30 and V = 2					[2mks]







b. Evaluate the expression  if 				[2mks]





2. The length of an arc of a circle is 62.8 CM. find the radius of the circle if the arc subtends an angle of 1440 at the centre [].						[3mks]























3. Twenty five machines working at a rate of 9 hours per day can complete a job in 16 days. A contractor intends to complete the job in 10 days using similar machines working at a rate of 12 hours per day. Find the number of machines the contractor requires to complete the job											[2mks]























4. Evaluate 							[3mks]











5. A large carton contains 4 litres of orange juice. Cylindrical glasses of height 10 cm and radius 3 cm are to be filled from the carton. How many glasses can be filled?		[4mks]

[]
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6.  The diagram shows two boxes that are cuboids. The larger box measures 20cm by 10cm by 20cm. It is partly filled with 70 smaller boxes each measuring 5cm by 5cm by 2cm. The smaller boxes are packed so that there are no gaps between them. How many more smaller boxes could be fitted into the larger box? 						[3mks]
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7. Simplify 								[2mks]









8. The cylinder below has a surface area of. Calculate 			[3mks]
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9. Solve the linear equations below using elimination method:

a. 									[3mks]





























b. 								[3mks]
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